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1. Find d—[ex(smx —cosz)| =_2e’sinx
x

2
2. Find lim — = 0

z—0 eT

3. Find tan(arcsec(—v2)) = —1

G 1
4. Find / Lﬂ dr = arctan —
o l+sin"zx 2

1
5. Find/ re®dr=_1
0

5

N

-4
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L3-8 ~ P45 (80 )

1. (a) Find % [(#* +1)e"]  (b)Find % (e%i).

1

1 2 .
2. (a) Evaluate / e dr (b) Evaluate / e cos T dx.
0 0
. d sin x . d 3"
3. (a) Find - (z%"7) (b) Find - (2 >
. d . 2023
4. (a) Find e log,(In z) (b) Find [ 272" dx.

; T\"
5. Evaluate lim <1 + —) , Where 7" is a real number.
n

n—oo
1
6. (a) Find lim zlog, x (b) Find lim -%-.
x—0t =0T ez

d
7. (a) Find i arcsin v/ 2x (b) Find — arctan(In x).
dx dx

x——|—5dx
Vé6r — a2

8. Find

1
9. Find / arcsin z dzx.
0

10. Find/e% sin x dx.
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5L g x x i
1 2w + (22 + 1)e*,  (b) —> e Fh 5.4 — ]4E 3*
(a) 2ze” + (z° + 1)e”, ()(I+1)26 4 — B|3E
1 1
2 | (a) §(1 —e ), (b)=(e—1) 5.4 — |4 10, ¥ 3% 117"
m
A 1 R
3 | (a) ™ (cosxlnz + —sinz), (b)2* (In2)3%(In3) 5.5 — |4E 5, 3*
X
1 1 1 11
4 — ..z h) = . — .97 5 — BI4E 3, ¥ 4E 737
(a) In2 lnz 2z’ ( )3 In2 e 50— WIAL3, ¥ ALT3
5 | e 5.6 — G|4L 5
6 | (a)0, (b)0 5.6 — % 3% 43*
1 1 1 1
7 : o (b - 5.7 — 6|3 4
@) VI—2z \x ® 17 (Inz)* = i
-3
8 —\/63:—x2+8sin’1xT+C 5.8 — ¥ 4L 21°
9 g—1 8.2 — 3T 4
1 2x 2 2z L: 9 *
10 — ge cosz + 56 sinx + C 82— % 475
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